5 Port Air Operated Valve

VZA2000 Series

Base mounted

‘e

Body ported

Specifications

Fluid Air
VZA2121, 2141 ‘ 0.1t01.0
Operating pressure range (MPa -
P 9P ge (MPa) vzA2ie1, 2341 | 0t01.0
Pilot pressure range (MPa) 0.1t0 1.0
Ambient and fluid temperature (°C) —10 to 60 (No freezing.)
Impact/Vibration (m/s?) Note) 150/50

Operating pressure < Pilot pressure
Note) Impact resistance: No malfunction from test using drop impact tester, to axis and right angle di-
rections of main valve, each one time when pilot signal ON and OFF. (Value
in the initial stage)
Vibration resistance: No malfunction from test with 8.3 to 2000 Hz 1 sweep, to axis and right angle
directions of main valve, each one time when pilot signal ON and OFF. (Value
in the initial stage)

Model
Flow rate characteristics ’
154/2(P—A/B) 4/2—5/3(A/BoEA/EB) Pilot | Pilotport
Valve model Type of actuation Port size : Piping
c b cv C b cv port size | |5cation
(dm3(s-bar)) (dm3/(s-bar))
3 |VZA2121-M5 2 position Single 0.60 0.43 0.15 0.59 0.30 0.15
§_ VZA2221-M5 P Double M5 0.8 0.60 0.43 0.15 0.59 0.30 0.15 M5 x 0.8 | Body side
& [vzA2321-M5 [ . Closed center e 0.56 045 | 0.13 0.59 022 | 0.14 e v
@ | VZA2421-M5 P Exhaust center 0.60 0.20 0.15 0.59 0.22 0.14
VZA2141-1-01 . Sub-plate side|
= VZA2141-2-01 2 posiion Single 1.0 0.30 0.25 0.90 0.25 0.21 Body side
L8 -1
€ | VZA2241-1-01 Double 1.0 030 | 025 0.90 025 | 021 Sub-plate side
g ) VZA2241-2-01 R 1/8 M5x0.8 Body side
2| VZA2341-1-01 " |Sub-plate side|
o5 . .2! .21 . . . n
§ £[vza2341-2-01 3 posiion Closed center 0.90 0.25 0. 0.71 0.30 0.19 Body side
~|vzA2441-1-01 Sub-plate side|
VZA2441-2-01 Exhaust center 1.0 0.30 0.25 0.90 0.25 0.21 Body side

Note) Model number for base mounted type without sub-plate is VZA2[141-}

Compatibility with universal porting is possible except for with the single type.

Symbol
Body ported
2 position single 2 position double
(A)(B) (A)(B)
4 4 2
NIy Ry j7A:
513 513
(R1)(P)(R2) (R1)(P)(R2)
3 position closed 3 position exhaust
center *®) center " ®)
4 2 4 2
- <t - <t-

513 513
(R1)(P)(R2) (R1)(P)(R2)
Base mounted

2 position single 2 position double

(Z\) (8) (/2)(5)
IEVII7A RN AN {7411
513 513
(R1)(P)(R2) (R1)(P)R2)
3 position closed 3 position exhaust
center center
(A)(B) (A)(B)
4 2 4 2
- <t~ - <t-
513 513
(R1)(P)(R2) (R1)(P)(R2)

© 1484

+ To order valves and blanking plate assembly mounted onto the manifold, list valves and blank plate
assembly with manifold base part number.
<Example: Body poned> <Example: Base mounted>
VV5ZA2-20-051- 3 VV5ZA2-50-051-01-
VZA2121-M VZA2141-2

VZA2241-2

VVZ2000-31A-3:

Sub-plate Assembly Part No.: VZA2000-S-01

+ Mounting bolt and gasket are not included. Thread type
Nil Re
N NPT
T NPTF
F G

A Caution

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5
Port Solenoid Valve Precautions.



5 Port Air Operated Valve VZA2000 Series

How to Order Manifold

VV52ZA2-[50]-[05] 1 -[01]

VZA2000 Series
Manifold

Manifold specifications
(P, EA, EB port size)

Symbol| Piping type P, EA, EB port size
20 Body ported
50 | Base mounted Re1/8

VZA2

Type of actuation

Stations
02 | 2 Stations

10 | 10 Stations

Thread type

Nil Rc
N NPT
T | NPTF
F G

Cylinder port size on the base

Nil Body ported 20 type
M5 M5 x 0.8

01 Rc1/8

C4 | Built-in @4 One-touch fitting
C6 | Built-in 6 One-touch fitting

Combination symbol (port specifications)

\ 1 \ P, EA, EB common/side ported \

How to Order Valve

2 position single

2 position double

3 position closed center

BWN =

3 position exhaust center

Body type

ﬂ Body ported
[4 [ Base mounted |

Pilot port piping type

(411 -[2]-[ ]

Nil

Body ported (Body side)

Sub-plate side (Internal)

Body side (External)

With Bracket

VZA2121-M5-F |

VZA2000 \ Air operated valve model \

\ Bracket assembly part no. \

VZ2000-37A-2__|

Option
[F ] With foot bracket |
Note) Only VZA2121-M5(single) applicable.
Thread type
Nil Rc, M5
N NPT
T NPTF
F G
Port size
Symbol] _ Body ported _[Base mounted
Nil Without sub-plate
M5 M5x08 | —
01 — | Rci/s

1485

2RI
-
£|s

=
N
H

=
=

SNIEEE
=(|S|E|=2

HHE
===

s
=
()



1486

VZA2000 series

Dimensions: Body Ported

2 position single: VZA2121-M5

2 position double: VZA2221-M5

26.5 2x02.8
| 12 12 Mounting hole’ 10
Brevi
o T O | 1o I L0y ol
oy | ST — & K] T
0|/ ! ! / 2 | 12 \[Pilot port (A side)
Pilot port (A side) Pilot port (B side) 275 265
2x02.8 M5 x 20.8 2xM5x0.8
Mounting hole
2x02.8
2x02.8 Mounting hole
Mounting hole - .
F Ll E:
o — — ol
2l of o ( I :r 1 ’ INRA )
s i X o =
= T
J : - 12 | 12 Manual override\
12 { 12 (Non-locking)
Manual override
(Non-locking)
5xM5x0.8
TES F o TI—=0- "
©, = - [ & 7 &
EA
95|95
95| 95 5X M504 335
335 68
59
3 position closed center: VZA2321-M5
3 position exhaust center: VZA2421-M5
38 27
12 12
l T T
t D= &t m il @ =o|+| 2
AimEo=a
10 /3 o28  \ Piotport (Aside)
Pilot port (B side) Mounting hole
2xM5x0.8
2x02.8
Mounting hole |
AR @
) [] I
| T e
| b=
12 12
Manual override
(Non-locking)
5xM5x0.8
!
B B &
w] —  —
& YVien
9.5| 9.5
37
85




5 Port Air Operated Valve VZA2000 Series

Dimensions: Base Mounted
2 position single: VZA2141-1-01

59
34.5
275 20.5
95 ]_‘5_|
T
s JI—— @R
Piotport A side) __/[€O[RUEAL e —[EBlrg
body side M5 x 0.8 17 17
2xya4:5 495
Mounting hole
—————— -@
T L [stuc]
1
[
<

o
as)
19.5
g
ﬁﬂ :
P
7

Pilot port (A side)
M5 x 0.8 sub-plate side

5xRc s
2 position double: VZA2241-1-01
68
34.5
27.5 26.5
9.5 .7_5,]
[ 8 e |9
I 7 B N I S N Y P
x z QTSR
L
milEal -] [Esjimz]
Pilot port (A side) : 17 17 ‘
body side 20.5 Pilot port (B side)
2x04.5 49.5 2xM5x0.8

Mounting hole

43

19.5

Pilot port (A side) 5x Rc ‘/a/
sub-plate side

Pilot port (B side)
2 x M5 x 0.8 sub-plate side

1487

2
=

H s E
= Bl s

AHE
r_;:b
= &= | =

=
N
=

T

3
=

o
=
w0



VZA2000 Series

Dimensions: Base Mounted

3 position closed center: VZA2341-1-01

38

28

'_4’7 A

28
32

Pilot port (A side)

body side 2% 045
Mounting hole

31.5

_ e
Pilot port (A side)

sub-plate side

3 position exhaust center: VZA2441-}-01

Pilot port (B side)
2x M5 x 0.8 body side

SMCIC

E
&
e

Pilot port (B side)
2 x M5 x 0.8 sub-plate side

)

~H

28
32

Fﬂl

Pilot port (A side)
body side
2x04.5

Mounting hole

Pilot port (B side)
2 x M5 x 0.8 body side

43

!
®

)

Pilot port (A side) /

sub-plate side

1488

[5xRc %

-~
<

Pilot port (B side)
2 x M5 x 0.8 sub-plate side



5 Port Air Operated Valve

VZA4000 Series

Body ported

Specifications SYA
Fluid Air SYJA
. VZA4121, 4141 0.15t0 1.0
Operating pressure range (MPa) > >
VZA4321, 4341 0t0 1.0 VZA
" VZA4121, 4141 0.15t0 1.0
Pilot pressure range (MPa) 7 7
VZA4521, 4341 0.1t01.0 VFA
Ambient and fluid temperature (°C) —10 to 60 (No freezing.)
Impact/Vibration resistance (m/s?) Note) 150/50

Operating pressure < Pilot pressure

Note) Impact resistance: No malfunction from test using drop impact tester, to axis and right angle directions of
main valve, each one time when pilot signal ON and OFF. (Value in the initial stage)
Vibration resistance: No malfunction from test with 8.3 to 2000 Hz 1 sweep, to axis and right angle directions

=
-
=
=

s
ES

Model of main valve, each one time when pilot signal ON and OFF. (Value in the initial stage) SYJA
Flow rate characteristics © S—
" " ilot pol
R Type of actuation Pog CSIZe 154/2(P—>A/B) 4/2-55/3(A/B>EA/EB) Pilot STt VZA
e b Cv c b cv portsize | ocation
(dm3/(s-bar)) (dm?3/(s-bar))
g [VZA4121-01 " Single 2.0 0.14 0.49 1.7 0.25 0.44
€ [vzadza1-01 | 2Position Double Ve 2.0 0.14 0.49 1.7 0.25 044 |\ 08 | Body sid VTA
& |VZA4321-01 3 position Closed center 1.9 0.15 0.47 17 0.25 0.44 - y side
A [VZA4421-01 P Exhaust center 1.9 0.15 0.47 1.7 0.25 0.44 VGA
g::::m:g; xﬁ 24 0.23 0.56 22 0.19 0.54 Sub-plate side VPA
— [VZA4141-2-01 Single 1/8
2 vzasimi202 | , posiion 4 24 0.23 0.56 22 0.19 0.54 Body side
T V782531401 | 1Tl
) xﬁ 2.4 0.23 0.56 22 0.19 0.54 Sub-plate side VPA3
£ Double /8 24 023 | 056 22 1 4 i
S [vzAa241-2-02 1/4 - : 5 - 019 05 s x5 |20 519
S [VZA4341-1-01 1/8 -
2 [vzadaar-io2 74 23 0.19 0.54 23 0.21 0.54 Sub-plte sde
SRivoaaaainiml Closed center
3 [VzA4341-2-01 1/8 )
2 [Vzadasiz02 74 23 0.19 0.54 23 0.21 0.54 Body side
@ 3 position
2 [vzA44a1-1-01 1/8
8 Vzasasi-io2 Exhaust conter_1/4 23 0.21 0.52 22 0.22 0.52 Sub-pate side
VZA4441-2-01 1/8
VZAA 202 7 23 0.21 0.52 22 0.22 0.52 Body side

Compatibility with universal porting is possible except for with the single type.

Symbol

Body ported
2 position single
(ﬁ) 8)

RVIIYAL

513
(R1)(P)(R2)
3 position closed center
(A)(B)

.

513
(R1)(P)(R2)

Base mounted
2 position single
(z\) 8)

NAVIIVAL

513
(R1)(P)(R2)
3 position closed center
(A)(B)

2 position double
(/2) (8)

i

513
(R1)(P)(R2)
3 position exhaust center
(A)(B)

.

2 position double
(ﬁ) (8)

SRR,

513
(R1)(P)(R2)
3 position exhaust center
(A)(B)

Note 1) Model number for base mounted type without sub-plate is VZA4141- 3
Note 2) Value at the maximum port size

+ To order valves and blanking plate assembly mounted onto the manifold, list valves and blanking
plate assembly with manifold base part number.

<Example: Body ported>
VV5ZA4-20-081
VZA4121-01
VZA4221-01
VVZ4000-31A-

VZA4141-
VZA4241-.

-1 pe.

Sub-plate Assembly Part No.: VZA4000-

# Mounting bolt and gasket are not included.

A\ Caution

VVZ4000-31A-2-

<Example: Base mounted>
VV5ZA4-50-

081-02---+---1 p.

1 pc.
01 L—r'
02
Thread type

Nil Rc
N NPT
T NPTF
F G

_____________-'

rBe sure to read thls before handllng the products.
1 Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 |
LPort Solenoid Valve Precautions.

- e e e e e e mm m mm e mm mm mm e mm e mm e e

1489 ®



VZA4000 Series

How to Order Manifold

VV5ZA4-[50]-[08] 1 -[02]

VZA4000 Series Thread type

Manifold Nil Rc
N NPT
T NPTF
F G

Manifold specifications
(P, EA, EB port size)

Symbol| Piping type | P, EA, EB port size Cylinder port size on the base
20 Body ported Ret/4 Nil Body ported 20 type
50 | Base mounted 01 Rc1/8
02 Rc1/4
C6 | Built-in 6 One-touch fitting
Stations C8 | Built-in 28 One-touch fitting

02 | 2 Stations

10 | 10 Stations Combination symbol (port specifications)
\ 1 \ P, EA, EB common/side ported \

How to Order Valve

vzA4[i]4]1 -[2-[ ] -

Option
Type of actuation [F [ With foot bracket ]
1 2 position single Note) Only VZA4121-01 (single) applicable.
2 2 position double
3 | 3 position closed center Thread type
4 | 3 position exhaust center Nil Rc
N NPT
T NPTF
Body type F G
[2 [ Body ported |
[4 [ Base mounted |
Port size
Symbol Body ported \Base mounted
Pilot port piping type Nil Without sub-plate
Nil Body ported (Body side) 01 Re1/8 [ Rei/g
1 Sub-plate side (Internal) 02 — | Retra
2 Body side (External)

With Bracket

[_Air operated valve model | VZA4121-01-F |
ZRe000 \ Bracket assembly part no. \ VZ4000-22A \

1490



Dimensions: Body Ported

2 position single: VZA4121-01

5 Port Air Operated Valve VZA4000 Series

2 position double: VZA4221-01

2x03.4
305 32 Mounting hole
S I 2x03.4
old ,,i:; PN :@, als 205 05 /Mounting fole
[Epin6 € —e
Pilot port (A side) 5 o AL _
M5 x0.8 38 . i
Pilot port (A side) |‘7 \ Pilot port (B side)
Manual 2xM5x 0.8 ™
(Non-locking) 18 18 2x03.5 Manual
Mounting hole (Non%zglr?;)
1 -loCKI 2x03.5
l?Ji — ;g [ | © 2 | Mo:nﬁng hole
v > [ l_él P S A
i = Q) o
ikh P e SRR
o &
| & s O =
32
715 415
81
14 14 5xRc %
RN Y %
7"*”719 § e
( hiiﬁg‘}@gjé
3 position closed center: VZA4321-01
3 position exhaust center: VZA4421-01
108
| 375 395
| | @
o o mjj*—,,#f’—ﬁv T4 {?r L
o/ |

Pilot port (A side) /
2x03.4

\ Pilot port

2xM5x0.8 B sid
* X Mounting hole 38 (B side)
2x03.5 =
Mounting hole
e ‘ P
Y
A\ - A S B ~| g
| ol g &|
Q|
| e ‘ | &
|
- |
Manual override @M
(Non-locking)
| 14 14 | 5xRc %
& !
| ¢ﬂ\ fN ) o N.
j - ¥
| Y

1491

2
=

H s E
= Bl s

AHE
r_;:b
= &= | =

=|<
N
=

TA

S|S
==

s
=
()



VZA4000 Series

Dimensions: Base Mounted

2 position single: VZA4141-1-3}
715

40.5
31.5

10

I@—Eﬁ— &

e [ I@

iiEa] [P [EB]R

Pilot port (A side)

M5 x 0.8 body side

17 I 17
50

|

2
5

52.5

375

15

2

2x04.5
Mounting hole

XRc 's

Pilot port (A side) 3xRc % “
2 x M5 x 0.8 sub-plate side A B por) (RT, R2 port)
2 position double: VZA4241-[1-3}
81 ,
40.5
31.5 31.5
i 10 | 10
[
) & |
72N ié o
38 }Hu ”]*# %’ L§={<
l @ﬁj@f e} {EBifRe) <i Pilot port (B side)
L body side
Pilot port (A side) Lz | 1 2x045
2 x M5 x 0.8 body side 56 26 Mounting hole

LY
S
0
I~ o
o) +
Nl L
o el
2 =1
. . 2xRc )% 3xRc %, 4
Pilot port (A side) —
port ( ) (R1, R2 port) (P, A, B port)

2 x M5 x 0.8 sub-plate side

Pilot port (B side)
sub-plate side

1492



5 Port Air Operated Valve VZA4000 Series

Dimensions: Base Mounted
3 position closed center: VZA4341-[1-5}

38.5 38.5
10 |_10

@ |
e

{#fza—ﬁ@( 3

34
26
i
*\?ﬂ )
Lr;g
] N
D

Pilot port (B side)

2 x M5 x 0.8 body side

26 2x045
10] Mounting hole

Pilot port (A side) | 47 17 body side
St

15

2xRc % 3xRc %, 4
(R1, R2 port) (P, A, B port)
Pilot port (B side)
sub-plate side

Pilot port (A side)
2 x M5 x 0.8 sub-plate side

3 position exhaust center: VZA4441-1-3}

108
54
38.5 38.5
10 | 10
rT
[Ay]
o) w | @
| © o= @ﬁ &
™| (A7) = = L}f’J
[-Hrrfea - —felire (O3
[ b i Pilot port (B side)
Pilot port (A side) 17 | 17 body side
2 x M5 x 0.8 body side 26 2x04.5
50 Mounting hole

w
ol
0
Tk )
A c’;
S
© F/fl PE]
/
Pilot port (A side 2xRc % 3xRc %, %4
2 x M5 x 0.8 sub-plate side  (R1, R2 port) (P A, Bport)

Pilot port (B side)
sub-plate side

1493

2RI
-
£|s

s B
= |

=|=|[r]=]=
N | =<||Z|3
=(=|(s|E|I2

T

S|S
==

o
=
w0



	5 Port Air Operated Valve: VZA2000 Series
	Specifications, Model
	How to Order Manifold, How to Order Valve, With Bracket
	Dimensions/Body Ported
	Dimensions/Base Mounted
	5 Port Air Operated Valve: VZA4000 Series
	Specifications, Model
	How to Order Manifold, How to Order Valve, With Bracket
	Dimensions/Body Ported
	Dimensions/Base Mounted



